VERBAL REASONING TEST A
VR A

| Pupil’s Name | | Date of Test |
DATE OF BIRTH
| School Name | Day Month Year
PUPIL NUMBER SCHOOL NUMBER |
[0] [0]| January — 1990 —
[11 [1]| February —_ 1991 =
[0 0] [o] [O] [0] [O] (0] [0] [o] [0] [o1 (0] [O] [2] [2] | March | 1992 =
oy o oo oo 0y oy neonrooronrom [3] [3]| April | 1993 &
@ [ [2 @2 [2 [2 @ 2 [ 2 @2 @2 [2 [4]| May | 1994 4
Please mark Bl B B B Bl [3] Bl B B B B B [ [5]'| June | 1995 &4
H H [4 [4 [4 @ 4 M@ 4 [4 [4 [@4 [ [ @ [6] | July | 19% &4
Ilke thls H' [51 [51 [8] [5] [5] [8] [51 [51 [51 [5] [81 [5] [8] [7]] August | 1997 &4
[61 (61 [6] [6] [6] [6] 61 [6] [6] [6] [6] [6] [6] [8] | September 1| 1998
7 mmm 7 mmmmmom [9] | October = 1999 =
[8]1 8] [8] (8 [8 [8] [8] 8] 8] [8 [8 [8 I[8 November [ 2000 —
[91 91 @ M@ [9 [9] [91 99 91 @ [ [9 [9 December =1 20001 =
EXAMPLE
p f =3 s 3 h =3 m w p c =
a = | = p = 0o 0o h &= i3 r 3
i 3 e 3 i3 u =3 i e I t 3 e 3
n 3 t O I = s 3 s r 3 c =3 a =
t 3 e O t 3 h = s 3
EXAMPLE
March — dress 1 cabbage 1 skip stretch = magenta 1 content sour I
Monday = slipper 1 spinach 1 walk girth = sapphire placid = rough =
July = boot 1 pasta sprint centimetres 1 pink = anxious bitter —
December 1 scarf 1 chutney 1 stroll 3 waist 1 scarlet calm = bright =
Christmas = sandal —1 lettuce 1 saunter 1 circumference emerald nervous —J sweet I
EXAMPLE
A O3 A A A A A A A
B ™ B O B & B O B = B = B = B =
cC 3 C = C = C = [ | cC =3 C = C =
D = D = D =3 D =4 D = D = D = D =
E &3 E O E O3 E O3 E O E O E O E O

Craig
William =3 EXAMPLE
Emily — dark =1 new [ path 3 holiday = forest I chips I season [ sun
Deepa white = young mountain 3 sand 1 timber shoal winter 1 moon [
Mai — old = bad = journey 1 sea [ bird 3 stream [ holiday I night
coach [ crossing duckling =3 kitten 3 wind salt —1 solid 3 volcano
road 3 carriage chick — leveret kite — sand 1 stone liquid =
garage [ track 1 cygnet 1  harelet balloon 3 current 1 cliff 3 eruption 1
EXAMPLE
red 3 jumper swing 1 pail — room [ robe core 1 rage toad —1 time
garden house = penny [ fare cup 1 saucer I ask nation trip stool
green = rose 1 fan 1 rope 1 ward den do I key 1 watch 1 full —
won [ age react on I on 3 ice 1
car 1 rot 1 stand 1 or 1 oak let
top 3 art 1 change age 1 off 1 ten 1
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PUPIL NUMBER

0] [0 [0 [0 [0] [0]
o o ooronr oo
2R [R @2 [
B B BB R B

EXAMPLE 4 [4 [4 [ M4 [
the child 1 they had 3 whichis 1 he was 1 thepond 1| | [ B [ B 5] [5]
child fell — had entered —1 isthe was last pond froze (6] (6] [6] [6] [6] [6]
fell over = when can 1 stop for 3 entered the 1 the longest 1 last entering 1 froze that 3 7 7w
over the 1 canwe [ fora 3 the forest 1 longest opera 1 entering the — that winter (8] (8] [8] (8] [8] (8]
the stone 1 westop I adrink the hotel 1 B B BI Bl o[
EXAMPLE
machines take please change [ A ORE 1 FAR = owL = DAY — PAR =
take the 1 change places B LD = ARM =1 WIN = LAD 1 RAT
the stones places often 1 C = PAT FIR = FOL = LED = ACT &
stones away [ D = 0AK = ouT = LOW = ORE 3 TIO =
E = SAD —1 BAR oL = LID = ART =
GAP ARE =1 MAT =
PAN — RED — PIC = EXAMPLE
RAP 1 BAR 1 ARC race [ flag — team [ foe 3 amazed [ faint 1
APE ORE — CAR = shop end I friend cousin impatient cross [
ARE 1 ROD 1 EAR start = begin = leader 1 companion [ angry [ disappointed [
hungry — bread 1 pan knife 3 historic 3 antique stretch 1 push = anxiety hope =
thirsty tired 3 cup =4 bowl weird 3 battered 1 pull =3 muscle 3 honour 1 worry 1
water 1 famished 3 dish = fire 3 ancient CJ wonderful 3 twist 3 extend courage 1  sorrow [
EXAMPLE
AZ KM = CH = M = QS = PO WH = J0o =
cY = J0O = DG QN = PR QP = 0T = KL =
EX ™ HO cG = RO DG = RS WG = KP =
GW = KJ = EF PN = QR = PT = 06 = GT =
IV = IL =3 DH = RM = DR = Q0 = VG = JP O
EXAMPLE
tp = slip =3 peck cone [ earn 1 stile 1 rowed [ goes [
map ship = tick = nose [ nice I shine — sound —1 hose =
hit & whip =3 lice 1 hone chin = hints = grows [ some [
tap spar neck keep cash — feint = round come
hat slap pint =3 coke 1 cars flint = sword such =
EXAMPLE
2 O 14 &3 37 &4 4 & 21 & 18 =3 94 O 35
4 ™ 22 1 = 21 42 ™ 23 45 39 &
6 &3 17 &3 14 ™43 18 25 35 35 40 &
8 O 25 35 42 ™ 35 20 55 38
10 = 19 =3 13 =3 36 6 24 ™ 42 ™ 13 =3
EXAMPLE
POND 1 QTUG = XRVTM =1 EQUAL = BLOG — BEMRX I COKE —
ROBE 1 JPUTF = uvsoJ = FROST =1 BIRD =1 TEMRX = CAME
DOOR — JATUG = UMDQW — CABLE — BRED — LEWRX — EDIT ™
ROAD = FMPQC — XYRVM = FLESH =1 ZEAL 1 LWEJT = CAKE ™=
RUSH — GUTQ = XYVRM = FRESH — ZIPS = TEXMR — EXAM
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